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Instructor: Dr. R.A.G. Seely Practice Assignment 3A
Algebra & Functions (Maths 201-016)

Substitution/Elimination

Solve the system by substitution. 14 dr+ 6y =1
224 3y=1
T+y=>5
3z +2y=12 Solve the system by elimination.
r+2y=—1 15, T TW=0
% — dy = 3z + 4y =10

dr —y = 16.

—2x—2y= 17.

3z 4+ 2y = 18.

T+Y=95 19.

&

3z 42y = 20.

3z +y= 22.

10z + 10y = 10 23.
5 — by = 10
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(2,3)

(1,-1)

(2,6)

No solution.
(0,0)

No solution.
(1,2)

Infinite solutions.

No solution.
(%7_ )

Infinite solutions.

DO
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No solution.
(_17 1)

Infinite solutions.

(15 16)

137 13
No solution.

(16,9)

Infinite solutions.
(O) - 2)

(_171)

52 43
(=57, 37)



